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I Fine for ritually disqualifying someone else’s foodstuffs
a  If someone was &nvn, mixes his food with nmIn to generate 1077 or Joan to 1y (meaning debated in 'n1 — see below)
i If:it was intentional — he must pay (even though it is 7221 18® prn)
ii  However, if: it was unintentional, he is exempt
b  Meaning of Join:
i 17-libated to 1y (wnn o)
1 rejects 1990 — same as ynIn
(a) Response: we can’t infer one v1p from another
i 9RmY — mixed with 701 1»
1 rejects wnn Joan because of N%1n Na172 MY Op — the libator would be nrn 2N and exempt from payment
(a) Response: follows n'n7 " that splits the moment of nnn avn (libating) from n% 1 (when he picks it up)
¢ Justification:
i Oncewe state: knon, we don’t know to apply to ynTn:
1 If: the nkmv is caused to NN —R™10 he’s fined because he made it totally unusable
2 If: the nkmv is caused to 1910 — 8”10 because it is forbidden to generate nkmv to PHINin "R
(a) However: I wouldn’t know to apply it to yinrT
ii ~ And if: it only stated y1n>7, we would think because that’s common — can’t apply to xnvn
iii ~And if: it stated both, we wouldn’t apply it to 701, due to the consideration of n”a%p — %"np as per n'nv "
d  Alternate justification (following order of 8ovn & joinand then yp71):
i Oncewe state: Rnon, we can’t apply to Join due to n”adp
ii ~ And if: we state 7010 — R"10 because it is utterly unusable, unlike nxmo
iii And if: we state both of these — "0 since they generate a great financial loss, unlike y1>7 - 5"np
e The “essential” law and the 0%y y’n here:
i pm: essentially, both T1m 2w are liable, since prn M71v 71221 1WRY prn
1 however: they exempted mw so he’d tell the pri (and he would know that his wine, e.g. is 710x)
2 challenge: if so, they should exempt T
(a) answer: if he intends to do harm, he probably wants the 11 to know
ii NP " essentially, neither 2w nor 711 are liable — since prn MNWY IRY 1221 1KY prn
1 however: they held 7 liable to prevent such behavior
iii  Analysis: end of 7:1 — 02103 that performed 19 on a 129p — if done 71103, are liable 0% YN PPN 2an
1 Implication: they're not essentially liable = prn v
2 Defense: implication is that mwa they are exempt — and that is the application of D% yn 1p'n
iv  Challenge: if someone does narYn with nkvn M or NMITR 119 — their liability is not actionable
1 Explanation: if pvn ionw 9321 18W pri, it should be actionable
2 Defense: the naryn was purely of intent (e.g. he brought the 179 into a corral to nurse or thresh or he weighed
something, using the nkvn ’m as a counterweight)
(a) Challenge: 821 said that nxvn 'n aren’t invalidated if used as counter-weights
(i) Resolution: if they are used as counter-weights, valid; if used as displacement weights, invalid (our case)
(if) So...challenge: if we say prn n'nw 1"RWN, if he used nron ’m as displacement — should be 27n
(b) Rather: both cases are counter-weights —
(i) Valid: if he kept his mind on the nxvn 'n (no nyTn No’N)
(ii) Invalid: if he had nyTn non
v Challenge: if a coin was stolen and was taken out of circulation; nm n which became nxnv, pnn and nos lapsed —
1 The thief: may give it back as is, with no further liability — challenge to position of pr’n n'nw 1”8wn — should be a
regular 151 — rejected
vi Suggestion: perhaps 1"Rwn is subject to a dispute among the nxin:
1 If someone was yn710 800D 0T TOIM:
(a) Intentionally — n” and nmn> 7 agree that he is liable
(b) Unintentionally — n" finds him liable (prn m'nw?) and nmn’ 1 exempts him (prn nnY RY?)
2 Rejection: all agree that prn nnw 1R 1”8V — the dispute is whether we extend the 091 to 2 as a precaution
against intentionally damage.
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